

INSTITUTUL
DE
MATEMATICA

INSTITUTUL NATIONAL
PENTRU CREATIE
STIINTIFICA SI TEHNICA

ISSN 0250 3638

ON THE GEOMETRY OF CERTAIN FUNCTIONAL MODELS FOR
CONTRACTIONS

by

Dan TIMOTIN

PREPRINT SERIES IN MATHEMATICS

No. 34/1986

BUCURESTI

Mod 23738

ON THE GEOMETRY OF CERTAIN FUNCTIONAL MODELS
FOR CONTRACTIONS.

by .

Dan TIMOTIN*)

July 1986

*) Department of Mathematics, National Institute for Scientific
and Technical Creation, Bd. Păcii 220, 79622 Bucharest,
ROMANIA.

In [2] Nikolskii and Vasyunin analyze the interrelation between the functional models for contractions of de Branges-Rovnyak and Sz-Nagy-Foias. We present here a slightly different approach, using the relative structure of subspaces of a Hilbert space and avoiding computations as far as possible. Thus, ^{with the exception of proposition 3,} this note is mainly a summary of the main results of [2], but presented in an alternate manner, which appeals to simple geometric intuitions. It may be useful for better understanding of other questions relating to this subject (for instance, the scalar case investigated in [5]).

§1. Complementary subspaces.

Let \mathcal{E} , K be Hilbert spaces, \mathcal{E} contractively embedded in K . This means that there exists a Hilbert space H and a contraction $T: H \rightarrow K$, such that $TH = \mathcal{E}$, and $\|Th\|_{\mathcal{E}} = \|P_{(\ker T)^\perp} h\|_H$ (thus, if $\ker T = \{0\}$, then $\|Th\|_{\mathcal{E}} = \|h\|_H$). It is well known then that there exists a Hilbert space \mathcal{K} and two isometric embeddings $i: H \hookrightarrow \mathcal{K}$, $j: K \hookrightarrow \mathcal{K}$, such that $T = j^*i$. If H and T are given, then \mathcal{K} , i , j are uniquely determined (up to unitary equivalence) by the minimality condition $\mathcal{K} = (iH \vee jK)$. There are several ways of constructing \mathcal{K} ; for instance, start with $H \oplus K$ endowed with the semi-scalar product given by the positive operator

$$\begin{pmatrix} I & T^* \\ T & I \end{pmatrix}$$

T then "measures the angle" between the embeddings of H and K ; it corresponds to the projection from iH on jK , and $j\mathcal{E}$ is the image of this projection. In this section we fix \mathcal{K} and identify, for simplicity, H and K with their embeddings. Then, if P is the projection onto K , we have $\mathcal{E} = PH$.

The "complementary subspace" \mathcal{E}' is a contractively embedded subspace of K , uniquely defined by the conditions (see [2]):

- (i) $\|x+x'\|^2 \leq \|x\|_{\mathcal{E}}^2 + \|x'\|_{\mathcal{E}'}^2$ for any $x \in \mathcal{E}$, $x' \in \mathcal{E}'$.
- (ii) each $h \in K$ has a unique decomposition $h = x + x'$, $x \in \mathcal{E}$, $x' \in \mathcal{E}'$, with $\|h\|^2 = \|x\|_{\mathcal{E}}^2 + \|x'\|_{\mathcal{E}'}^2$.

We have then, with the notations above:

Proposition 1. Let $H' = H^\perp$. Then $\mathcal{E}' = PH'$, with $\|PR'\|_{\mathcal{E}'} = \|R'\|$.

Proof. We may suppose $\ker T = \{0\}$, that is, $\|Ph\|_{\mathcal{E}} = \|h\|$. If $x \in \mathcal{E}$, $x' \in \mathcal{E}'$, then $x = Ph$, $x' = PR'$, with $h \in H$, $R' \in H'$. We have

$$(1) \quad \|x + x'\|^2 = \|P(h + R')\|^2 \leq \|h + R'\|^2 = \|h\|^2 + \|R'\|^2 = \|x\|_{\mathcal{E}}^2 + \|x'\|_{\mathcal{E}'}^2$$

We have proved (i). For (ii), let $k \in K$; then $k = h + h'$, $h \in H$, $h' \in H'$. Put $x = Ph$, $x' = PR'$. Then $k = x + x'$, and

$$\|k\|^2 = \|h\|^2 + \|h'\|^2 = \|x\|_{\mathcal{E}}^2 + \|x'\|_{\mathcal{E}'}^2$$

For any other decomposition $k = x + x'$, we may write (1), where equality implies $h + h' \in K$, whence $k = h + h'$ and h and h' must be the projections of k onto H and H' respectively. •

The proposition shows that complementarity of contractively embedded subspaces is orthogonality in a larger space projected onto K . Note that for this construction $\ker(P|_{H'}) = \{0\}$, although we could have had $\ker(P|_H) \neq \{0\}$.

§ 2. The canonical model.

Suppose E, E_* are two Hilbert spaces, $\Theta(z)$ is a contractive analytic function in D with values in $\mathcal{L}(E, E_*)$. It is well known ([3]) that $\Theta(z)$ has nontangential strong limits on T , and the formula

$$(\Theta f)(z) = \Theta(z)f(z)$$

yields a contraction in $\mathcal{L}(L^2(E), L^2(E_*))$, which maps $H^2(E)$ into $H^2(E_*)$. Being a contraction operator, Θ may be interpreted as measuring the angle between two embeddings of $L^2(E)$ and $L^2(E_*)$ into a larger space (as in §1). We then obtain the canonical model for contractions ([3]), which we will describe below in the "coordinate free" manner of Vasyunin ([4], [6]). Thus, we have a Hilbert space \mathcal{H} and two isometric embeddings $\pi: L^2(E) \rightarrow \mathcal{H}$, $\pi_*: L^2(E_*) \rightarrow \mathcal{H}$, such that

$\mathcal{H} = \pi(L^2(E)) \vee \pi_*(L^2(E_*))$ and $\pi_*^* \pi = \Theta$. The analyticity of Θ is equivalent to the condition $\pi(H^2(E)) \perp \pi_*(H^2(E_*))$. Since Θ

commutes with multiplication by z , it is possible to define a unitary operator U on \mathcal{H} , such that $\pi^* U \pi$ is multiplication by z on $L^2(E)$, while $\pi_*^* U \pi_*$ is multiplication by z on $L^2(E_*)$. $\pi(L^2(E))$ and $\pi_*(L^2(E_*))$ are then reducing subspaces for U .

Define

$$\mathcal{K} = \mathcal{H} \ominus (\pi(H^2(E)) \oplus \pi_*(H^2(E_*)))$$

Then \mathcal{K} is a semi-invariant subspace for U , and $T_\Theta = P_{\mathcal{K}} U|_{\mathcal{K}}$ is a completely non-unitary contraction, whose characteristic function ([3]) is the pure part of Θ .

For comparison, in the actual construction of Sz. Nagy and Foias, we define $\Delta(z) = (I - \Theta(z)\Theta(z)^*)^{1/2}$. Then

$$\mathcal{K} = L^2(E_*) \oplus \overline{\Delta L^2(E)}$$

$$\pi f = \Theta f \oplus \Delta f, \quad \pi_* g = g \oplus 0$$

and it follows that

$$\mathcal{K} = [H^1(E_*) \oplus \overline{\Delta L^2(E)}] \ominus \{ \Theta u \oplus \Delta u : u \in H^2(E) \}$$

In the sequel, if H is a subspace either in \mathcal{K} or in $L^2(E)$ or $L^2(E_*)$, we will always denote by P_H the orthogonal projection onto H . Also, we will denote:

$$P_* = \pi_* \pi_*^*, \quad P = \pi \pi^*$$

$$P_{*+} = \pi_* P_{H^1(E_*)} \pi_*^*, \quad P_{*-} = P_* - P_{*+}$$

$$P_+ = \pi P_{H^2(E)} \pi^*, \quad P_- = P - P_+$$

By S we will denote multiplication by z either in $H^1(E)$ or $H^2(E_*)$ (it will be clear from the context where); S^* is its adjoint.

§3. The "premodel" space of de Branges and Rovnyak.

From our point of view, the construction of de Branges and Rovnyak is a reconstruction of the above objects from their "shadows" on $H^2(E_*)$ (that is, projections onto $\pi_*(H^2(E_*))$). It is then natural to break \mathcal{K} into two parts, namely

$$\mathcal{K} = \mathcal{K}_o \oplus \mathcal{K}_{oo}$$

where

$$\mathcal{K}_{oo} = \mathcal{K} \cap [\pi_*(H^2(E_*))]^\perp$$

$$\mathcal{K}_o = \mathcal{K} \ominus \mathcal{K}_{oo}$$

$$\text{Thus, } \mathcal{K}_{oo} = \pi_*(L^2(E_*))^\perp \cap \pi(H^2(E))^\perp$$

Also, \mathcal{K}_{oo} is invariant to U^* , and $U^*|_{\mathcal{K}_{oo}}$ is an isometry. (obviously \mathcal{K}_{oo} is then invariant to T_Θ^* , and $T_\Theta^*|_{\mathcal{K}_{oo}}$ is an isometry). Actually, it can easily be shown that \mathcal{K}_{oo} is the largest subspace of \mathcal{K} on which T_Θ^* is an isometry.

But the space we will consider in this section is \mathcal{K}_o . Since $\mathcal{K}_{oo} = [\pi_*(L^2(E_*)) \vee \pi(H^2(E))]^\perp$, we have

$$\mathcal{K}_o = [\pi_*(L^2(E_*)) \vee \pi(H^2(E))] \cap \pi(H^2(E))^\perp \cap \pi_*(H^2(E_*))^\perp =$$

$$= [\pi_*(H^2(E_*)) \vee \pi(H^2(E))] \ominus \pi(H^2(E))$$

(for the last equality we have used the fact that $\pi(H^2(E)) \subset \pi_*(H^2(E_*))^\perp$).

We shall denote $\mathcal{H}_+ = \pi_*(H^2(E_*)) \vee \pi(H^2(E))$. Thus \mathcal{H}_+ is invariant to U and

$$(2) \quad \mathcal{K}_0 = \mathcal{H}_+ \ominus \pi(H^2(E))$$

Now, we denote by $\mathcal{K}(\Theta)$ the contractively embedded subspace of $H^2(E_*)$ defined (see §1) by $\Theta|_{\mathcal{K}(\Theta)}$. Relation (2) and proposition 1 show that $\pi_*^*(\mathcal{K}_0)$ is the complementary space of $\mathcal{K}(\Theta)$. This is the "premodel" space; it will be denoted by $\mathcal{H}(\Theta)$. Also, by proposition 1, π_*^* is unitary operator from \mathcal{K}_0 to $\mathcal{H}(\Theta)$.

Proposition 2. (i) $S^*\mathcal{H}(\Theta) \subset \mathcal{H}(\Theta)$ (that is, $\mathcal{H}(\Theta)$ is invariant to S^* and S^* acts contractively on it).

(ii) For any $f \in \mathcal{H}(\Theta)$, we have the "inequality for difference quotients" () :

$$\|S^*f\|_{\mathcal{H}(\Theta)}^2 \leq \|f\|_{\mathcal{H}(\Theta)}^2 - \|f(0)\|^2$$

Proof. Denote by $U_+ = U|_{\mathcal{H}_+}$. Then \mathcal{K}_0 is invariant to U_+^* , $S = \pi_*^* U_+ \pi_*$, $S^* = \pi_*^* U_+^* \pi_*$. If $f \in \mathcal{H}(\Theta)$, then $f = \pi_*^* h$, $h \in \mathcal{K}_0$; therefore

$$(3) \quad S^*f = \pi_*^* U_+^* \pi_* \pi_*^* h = \pi_*^* U_+^* h - \pi_*^* U_+^* (1 - P_*) h = \pi_*^* U_+^* h$$

since $(1 - P_*)|_{\mathcal{H}_+}$ is the projection onto $\mathcal{H}_+ \ominus \pi_*(H^2(E_*))$, and this last space is invariant to U_+^* . Since \mathcal{K}_0 is invariant to U_+^* , it follows that $\mathcal{H}(\Theta)$ is invariant to S^* .

Denote $\mathcal{K} = \ker U_+^*$. Then $U_+^*|_{\mathcal{H}_+ \ominus \mathcal{K}}$ is an isometry. For any $h \in \mathcal{K}_0$, we have

$$\|h\|^2 = \|(1 - P_{\mathcal{K}})h\|^2 + \|P_{\mathcal{K}}h\|^2 = \|U_+^*(1 - P_{\mathcal{K}})h\|^2 + \|P_{\mathcal{K}}h\|^2 = \|U_+^*h\|^2 + \|P_{\mathcal{K}}h\|^2$$

If $f \in \mathcal{H}(\Theta)$, $f = \pi_*^* h$, then by (3) we have

$$(4) \quad \|S^*f\|_{\mathcal{H}(\Theta)}^2 = \|U_+^*h\|^2 = \|h\|^2 - \|P_{\mathcal{K}}h\|^2 = \|f\|_{\mathcal{H}(\Theta)}^2 - \|P_{\mathcal{K}}h\|^2$$

But $\mathcal{K} = \mathcal{H}_+ \ominus U_+ \mathcal{H}_+$. If $\mathcal{K}_0 = \pi_*(\text{constants in } H^2(E_*))$, then $\mathcal{K}_0 \perp U_+(\pi_*(H^2(E_*)))$, and also $\mathcal{K}_0 \perp U_+(\pi(H^2(E)))$, since $\pi_* U_+(\pi(H^2(E))) = U_+ \pi_*(\pi(H^2(E)))$. Therefore $\mathcal{K}_0 \subset \mathcal{K}$, and

$$\|S^*f\|_{\mathcal{H}(\Theta)}^2 \leq \|f\|_{\mathcal{H}(\Theta)}^2 - \|P_{\mathcal{K}_0}h\|^2 = \|f\|_{\mathcal{H}(\Theta)}^2 - \|f(0)\|^2$$

since

$$P_{\mathcal{K}_0}h = P_{\mathcal{K}_0}P_*h = \pi_* f(0)$$

5

If the inequality for difference quotients is actually an equality for any $f \in \mathcal{H}(\Theta)$, $\mathcal{H}(\Theta)$ is said to satisfy the identity for difference quotients. Let us investigate when this happens. By relation (4), we should have $P_K h = P_{K_0} h$ for any $h \in K_0$, or, equivalently,

$$\mathcal{N} \ominus \mathcal{N}_0 \perp K_0, \quad \text{that is,} \quad \mathcal{N} \ominus \mathcal{N}_0 \subset \tilde{\pi}(H^2(E))$$

Denote by \mathcal{L} the wandering subspace of the pure isometry

$U^*|_{K_{00}}$. From the definition of K_{00} and the relation

$$\mathcal{N} \ominus \mathcal{N}_0 = \mathcal{H}_+ \ominus [\tilde{\pi}_*(H^2(E_+)) \vee U_+(\tilde{\pi}(H^2(E)))]$$

it follows that

$$\mathcal{N} \ominus \mathcal{N}_0 = U\mathcal{L}$$

Thus, the condition $\mathcal{N} \ominus \mathcal{N}_0 \perp K_0$ becomes $U\mathcal{L} \subset \tilde{\pi}(H^2(E))$. Since, in any case, $U\mathcal{L} \perp U\tilde{\pi}(H^2(E))$, it follows that $U\mathcal{L} = \tilde{\pi}(E')$, where E' is a subspace of E and we have identified constant functions in $H^2(E)$ with their values. Consequently, $K_{00} = \tilde{\pi}(H^2(E'))$, where $E' \subset E$. We may also rephrase this condition in terms of (4); we have thus proved

Proposition 3. The following are equivalent:

- (i) $\mathcal{H}(\Theta)$ satisfies the identity for difference quotients;
- (ii) $K_{00} = \tilde{\pi}(H^2(E'))$, with $E' \subset E$;
- (iii) There exists a decomposition $E = E' \oplus E''$, such that $\Theta H^2(E') = 0$, while $\overline{\Delta H^2(E'')} = \overline{\Delta L^2(E'')}$.

(the equivalence of (ii) and (iii) is immediately seen, ^{for instance} on the model of Sz. Nagy and Foias).

The most important case in which the conditions in proposition 3 are satisfied is $K_{00} = \{0\}$, or $\overline{\Delta H^2(E)} = \overline{\Delta L^2(E)}$. This happens if and only if T_Θ^* contains no isometric part (see [2] for other equivalent conditions). Then the premodel space already coincides with the model ($K_0 = K$). In this case, by (3), we obtain that T_Θ^* is unitarily equivalent to $S^*|_{\mathcal{H}(\Theta)}$; this last operator acts by the formula

$$(S^*f)(z) = \frac{f(z) - f(0)}{z}$$

Moreover, the identity for difference quotients yields then the relation

$$\|D_{T_\Theta^*} f\|_{\mathcal{H}(\Theta)}^2 = \|f(0)\|^2$$

§ 4. The model space.

In the general case, we will describe the elements of \mathcal{K} by their projections onto $\hat{\pi}_*(L^2(E_*))$ and $\hat{\pi}(L^2(E))$. Let k be an element of \mathcal{K} ; define $f = \hat{\pi}_*^* k \in H^2(E_*)$, $g = \hat{\pi}^* k \in H^2_-(E)$. We have to determine which pairs $\{f, g\} \in H^2(E_*) \oplus H^2_-(E)$ occur in this way and then we have to recapture from $\{f, g\}$ the norm of k . An asymmetry appears between the roles of f and g , since we want to rely eventually on $\mathcal{K}(\odot)$, which is included in $H^2(E_*)$.

Suppose $k = k_0 + k_{\infty}$, $k_0 \in \mathcal{K}_0$, $k_{\infty} \in \mathcal{K}_{\infty}$. Since $P_* k = P_* k_0$, it follows that f must belong to $\mathcal{K}(\odot)$. Also, any $f \in \mathcal{K}(\odot)$ determines uniquely $k_0 \in \mathcal{K}_0$.

To recapture g , we have to "take out" vectors from \mathcal{K}_{∞} , which is orthogonal to $\hat{\pi}_*(H^2(E_*))$ and therefore is not related to $\mathcal{K}(\odot)$. This will be done by applying powers of U .

For any $n \geq 0$, we have

$$(5) \quad U^{n+1}(\hat{\pi}_* f) - P_* P_+ U^{n+1}(\hat{\pi}_* g) = U^{n+1} P_* k - P_* P_+ U^{n+1} P k = \\ = P_* U^{n+1} k - P_* P_+ U^{n+1} k = P_* (I - P_+) U^{n+1} k$$

But, since $k \in \hat{\pi}_*(H^2(E_*))^\perp$, $U^{n+1} k \in \hat{\pi}_*(H^2(E_*))^\perp$, and $(I - P_+) U^{n+1} k \in \mathcal{K}$. Since $P_* \mathcal{K} = P_* \mathcal{K}_0$, it follows that $\hat{\pi}_*^*(I - P_+) U^{n+1} k \in \mathcal{K}(\Theta)$. This last statement may be rewritten, using (5), in terms of the functions f and g :

$$z^{n+1} f - \Theta P_{H^2(E)} z^{n+1} g \in \mathcal{K}(\Theta)$$

Also,

$$\|k\|^2 = \|U^{n+1} k\|^2 = \|P_+ U^{n+1} k\|^2 + \|(I - P_+) U^{n+1} k\|^2 = \\ = \|P_+ U^{n+1} k\|^2 + \|P_{\mathcal{K}_0} (I - P_+) U^{n+1} k\|^2 + \|P_{\mathcal{K}_{00}} U^{n+1} k\|^2$$

But, for any $k \in \mathcal{K}$, $P_{\mathcal{K}_{00}} U^{n+1} k \rightarrow 0$ for $n \rightarrow \infty$ (this may be checked separately for vectors in $\hat{\pi}_*(L^2(E_*))$ and in $\hat{\pi}(L^2(E))$). It follows that

$$\|k\|^2 = \lim_{n \rightarrow \infty} (\|P_+ U^{n+1} k\|^2 + \|P_{\mathcal{K}_0} (I - P_+) U^{n+1} k\|^2) = \\ = \lim_{n \rightarrow \infty} (\|P_{H^2(E)} z^{n+1} g\|^2 + \|z^{n+1} f - \Theta P_{H^2(E)} z^{n+1} g\|_{\mathcal{K}(\Theta)}^2)$$

On the basis of this computations, we define the "model" space:

$$\mathcal{D}(\Theta) = \{ \{f, g\} : f \in \mathcal{K}(\Theta), g \in H^2_-(\Theta) ; z^{n+1} f - \Theta P_{H^2(E)} z^{n+1} g \in \mathcal{K}(\Theta) \text{ for any } n \geq 0 \\ \text{and } \|z^{n+1} f - \Theta P_{H^2(E)} z^{n+1} g\|_{\mathcal{K}(\Theta)} \text{ is bounded in } n \}$$

$$\|\{f, g\}\|_{\mathcal{D}(\Theta)}^2 = \sup_{n \geq 0} (\|P_{H^2(E)} z^{n+1} g\|^2 + \|z^{n+1} f - \Theta P_{H^2(E)} z^{n+1} g\|_{\mathcal{K}(\Theta)}^2)$$

For the moment, $\mathcal{D}(\Theta)$ is only a normed linear space. We have shown above that the operator $\mathcal{U}: \mathcal{K} \rightarrow \mathcal{D}(\Theta)$, defined by

$$\mathcal{U}(k) = \{ \hat{\pi}_*^* k, \hat{\pi}_*^* k \}$$

is an isometry.

Proposition 4. $\mathcal{D}(\Theta)$ is complete and \mathcal{U} is unitary.

Proof. We will show that \mathcal{U} is onto. Let $\{f, g\}$ belong to $\mathcal{D}(\Theta)$. Let $h_0 \in \mathcal{K}_0$, such that $\hat{\pi}_*^* h_0 = f$. Then $\mathcal{U}(h_0) \in \mathcal{D}(\Theta)$, and $\{f, g\} - \mathcal{U}(h_0) = \{0, g_0\}$, where $g_0 = g - \hat{\pi}_*^* h_0$; we know that

$\Theta P_{H^2(E)} z^{n+1} g_0 \in \mathcal{K}(\Theta)$ for any $n \geq 0$, and that $\|\Theta P_{H^2(E)} z^{n+1} g_0\|_{\mathcal{K}(\Theta)}$ is bounded in n . That means that $P_* P_+ U^{n+1} \hat{\pi}_* g_0 = P_* k_n$, where

$k_n \in \mathcal{K}_0$, $\|k_n\|$ are bounded in n . Therefore $P_+ U^{n+1} \hat{\pi}_* g_0 = k_n$

is orthogonal to $\hat{\pi}_*(L^2(E_*))$.

It follows that $\ell_n = U^{n+1} P_+ U^{n+1} \hat{\pi}_* g_0 - U^{n+1} k_n$ is orthogonal to $\hat{\pi}_*(L^2(E_*))$ and also to $\hat{\pi}(H^2(E))$; that is, $\ell_n \in \mathcal{K}_{00}$.

Now, $U^{n+1} P_+ U^{n+1} \hat{\pi}_* g_0 \rightarrow \hat{\pi}_* g_0$ for $n \rightarrow \infty$, while the sequence

8
 $\{U^{*n+1}k_n\}$ has a subsequence converging weakly, say, to $y \in \mathcal{H}$. Since $k_n \perp \widehat{\pi}(H^2(E))$, $U^{*n+1}k_n \perp U^{*n+1}\widehat{\pi}(H^2(E))$, and therefore $y \perp \widehat{\pi}(L^2(E))$. If we define $k = \widehat{\pi}g - y$, then $k \in \mathcal{K}_0$ (since it is the weak limit of some k_n 's), and $\widehat{\pi}^*k = g_0$, $\widehat{\pi}_*^*k = 0$. We have thus

$$\mathcal{U}(h_0 + k) = \{f, g\}$$

and the proposition is proved.

We may now write the action of the "model operator" $\mathcal{M}_\Theta = \mathcal{U} T_\Theta \mathcal{U}^*$. Using the fact that

$$T_\Theta = (1 - P_+ - P_-)U|_{(1 - P_+ - P_-)\mathcal{H}}$$

straightforward computations lead to the formula

$$(6) \quad \mathcal{M}_\Theta(\{f, g\}) = \{zf + \Theta(z)(zg)(0), zg - (zg)(0)\}$$

Actually, the standard form of the de Branges-Rovnyak model is written with $g \in H^2(E)$; this amounts in changing, in the definition of $\mathcal{D}(\Theta)$, g by $\bar{J}g = \bar{z}g(\bar{z})$ (and correspondingly in formula (6)).

REFERENCES

- [1] L. de Branges, L. Shulman, Perturbation of unitary transformations, J. Math. Anal. Appl., 1968, 23, N2, 294-326.
- [2] N.K. Nikolskii, V.I. Vasyunin, Notes on two function models, "Proceedings of the Symposium on the Occasion of the Proof of the Bieberbach Conjecture", Mathematical Surveys, AMS, Providence, 1986.
- [3] B. Sz. Nagy, C. Foias, Analyse Harmonique des Operateurs de l'Espace de Hilbert, Masson & Cie, Paris, 1967.
- [4] V.I. Vasyunin, ~~Ростропович~~ Построение функциональной модели Б. Секефальви-Надя - Ч. Фойаша - Записки науч. семин. ЛОМН, 1977, 73, 16-23
- [5] D. Sarason, Invariant subspaces from the Brangesian point of view, "Proceedings of the Symposium on the Occasion of the Proof of the Bieberbach Conjecture, Math. Surveys, AMS, Providence, 1986.
- [6] N.K. Nikolskii, V.I. Vasyunin, A unified approach to function models, and the transcription problem, preprint, ЛОМН, Leningrad, 1986.